' I l )

INTERNATIONAL

PARTS LIST

Clarke — CSS400C SCROLLSAW

Part Number: - 6462152

Quantity Description Part Number
6 PHILIPS SCREW M5X 8 AWNCSS400C€001
6 FLAT WASHER D5 AWNCSS400C002
1 SIDE COVER AWNCSS400C003
5 HEX NUT M6 AWNCSS400C004
9 STANDARD SPRING AWNCSS400C005
WASHER D6
1 BASE AWNCSS400C006
4 OIL CAP AWNCSS400C€007
1 LEFT STAND AWNCSS400C008
1 BLADE TENSION ASSY AWNCSS400C009
1 EXTENSION SPRING AWNCSS400C010
2 PRESSURE PLATE AWNCSS400C€011
3 STANDARD SPRING AWNCSS400C€012
WASHER D4
2 HEX SOCKET SCREW M4X8 | AWNCSS400C013
1 LOWER ARM AWNCSS400C014
1 UPPER ARM AWNCSS400C015
4 OIL BEARING AWNCSS400C016
7 PHILIPS SCREW M4X 6 AWNCSS400C€017
5 WIRE CLIP AWNCSS400C018
1 RIGHT STAND AWNCSS400€019

Parts and Servicing

For parts and servicing, please contact your nearest dealer or CLARKE International on the following number;
020 8988 7400 or e-mail as follows; parts@clarkeinternational.com or service@clarkeinternational.com

Parts List for Clarke P/N CSS400C SCROLL SAW 6462152 . Date Issued; 06/08/14

Page 1 of 8



mailto:parts@clarkeinternational.com
mailto:service@clarkeinternational.com

' I l )

INTERNATIONAL
11 STANDARD SPRING AWNCSS400C€020
WASHER D5
5 PHILIPS SCREW M5X 35 AWNCSS400C021
1 SAFE PLATE AWNCSS400C022
1 BELLOW CAP AWNCSS400C023
2 PHILIPS SCREW M5X28 AWNCSS400C024
1 ADJUSTABLE LAMP AWNCSS400C025
2 BULB 12V/10W AWNCSS400C026
1 FIXING NUT AWNCSS400C027
1 BELLOW AWNCSS400C028
2 FIXING PLATE AWNCSS400C029
4 DOME SCREW M6X 20 AWNCSS400C030
1 TOP BLADE HOLDER AWNCSS400C031
2 STAR WASHER D4 AWNCSS400C032
2 HEX SOCKET SCREW M4X AWNCSS400C033
20
2 STAND CUSHION AWNCSS400C034
1 BLADE 15TPI PIN TYPE AWNCSS400C035A
1 BLADE 18TPI PIN TYPE AWNCSS400C0358B
1 HEX SOCKET SCREW AWNCSS400C036
M5X25
1 BIG CUSHION AWNCSS400C037
1 ECCENTRIC CONNECTION AWNCSS400C038
2 RADIAL BEARING W/DUST | AWNCSS400C039
COVER
2 HEX NUT AWNCSS400C040
1 CONNECTION PRESSURE AWNCSS400C041
PLATE
5 PHILIPS SCREW4.2X 9.5 AWNCSS400C042
1 SMALL CUSHION AWNCSS400C043

Parts and Servicing

For parts and servicing, please contact your nearest dealer or CLARKE International on the following number;
020 8988 7400 or e-mail as follows; parts@clarkeinternational.com or service@clarkeinternational.com

Parts List for Clarke P/N CSS400C SCROLL SAW 6462152 . Date Issued; 06/08/14

Page 2 of 8


mailto:parts@clarkeinternational.com
mailto:service@clarkeinternational.com

' I l )

INTERNATIONAL
1 HEX NUT M5X 16 AWNCSS400C044
1 LOWER BLADE HOLDER AWNCSS400C045
1 BLADE TENSION KNOB AWNCSS400C046
1 PRESSURE ROD AWNCSS400C047
2 PHILIPS SCREW M5X 30 AWNCSS400C048
1 BLADE GUARD AWNCSS400C049
1 WORK PIECE PLATE AWNCSS400C050
1 FLAT WASHER D6 AWNCSS400C051
2 PHILIPS SCREW M6X 10 AWNCSS400C052
2 WIRE PLATE AWNCSS400C053
2 STANDARD SPRING AWNCSS400C054
WASHER D8
2 HEX SOCKET SCREW M8X AWNCSS400C055
25
4 HEX BOLT M6X 20 AWNCSS400C056
4 BIG FLAT WASHER D6 AWNCSS400C057
1 TENSION SPRING AWNCSS400C058
2 HEX SOCKET SCREW M6X AWNCSS400C059
35
1 WORK TABLE STAND AWNCSS400C060
1 POINTER AWNCSS400C061
1 SCALE AWNCSS400C062
1 WORK TABLE AWNCSS400C063
1 TABLE INSERT AWNCSS400C064
1 TRANSFORMER AWNCSS400C065
1 TRANSFORMER BOX AWNCSS400C066
4 FLAT WASHER D4 AWNCSS400C067
6 SCREW M4X 8 AWNCSS400C068
1 HEX SCREW M8X 12 AWNCSS400C069

Parts and Servicing

For parts and servicing, please contact your nearest dealer or CLARKE International on the following number;
020 8988 7400 or e-mail as follows; parts@clarkeinternational.com or service@clarkeinternational.com

Parts List for Clarke P/N CSS400C SCROLL SAW 6462152 . Date Issued; 06/08/14

Page 3 of 8


mailto:parts@clarkeinternational.com
mailto:service@clarkeinternational.com

' I l )

INTERNATIONAL
1 ECCENTRIC WHEL AWNCSS400C€070
1 DC MOTOR AWNCSS400C071
1 SWITCH BOX AWNCSS400C072
1 STRAIN RELIEF AWNCSS400C073
4 PHILIPS SCREW M4X 10 AWNCSS400C074
1 VARIABLE SWITCH AWNCSS400C075
1 CIRCUIT BOARD AWNCSS400C076
1 TABLE TILT LOCK KNOB AWNCSS400C077
1 SWITCH BOX COVER AWNCSS400C078
1 ELECTROMAGNETIC AWNCSS400C079
SWITCH
1 BLADE SPEED REGULATOR | AWNCSS400C080
1 HEX SOCKET SCREW M AWNCSS400C081
5X6
1 POWER CORD AWNCSS400C082
2 SHAFT AWNCSS400C083
2 BEARING 80018 AWNCSS400C084
1 RING D22 AWNCSS400C085
4 RING D8 AWNCSS400C086
2 STAR WASHER D5 AWNCSS400C087
1 KEY 3X 8 AWNCSS400C088
1 COUPLER AWNCSS400C089
3 PHILIPS SCREW 5X12 AWNCSS400C090
1 SAFE COVER AWNCSS400C091
1 FLEXIBLE SHAFT AWNCSS400C092
1 SPEED UP COVER AWNCSS400C093
1 SPRING COLUMN PIN 3X10 | AWNCSS400C094
1 COG BELT AWNCSS400C095
1 BIG BELT WHEEL AWNCSS400C096

Parts and Servicing

For parts and servicing, please contact your nearest dealer or CLARKE International on the following number;
020 8988 7400 or e-mail as follows; parts@clarkeinternational.com or service@clarkeinternational.com

Parts List for Clarke P/N CSS400C SCROLL SAW 6462152 . Date Issued; 06/08/14

Page 4 of 8


mailto:parts@clarkeinternational.com
mailto:service@clarkeinternational.com

®

INTERNATIONAL
1 DUSTPROOF COVER AWNCSS400C097
1 SAWDUST BLOWER AWNCSS400C098
NOZZLE
1 PHILIPS SCREW M5X6 AWNCSS400C099
1 SOFT PIPE AWNCSS400C100
1 TOOLKIT AWNCSS400C101
1 PLASTIC BOX AWNCSS400C102
1 TOOL KIT COVER AWNCSS400C103
1 TOOL ASSY. AWNCSS400C104

Parts and Servicing
For parts and servicing, please contact your nearest dealer or CLARKE International on the following number;
020 8988 7400 or e-mail as follows; parts@clarkeinternational.com or service@clarkeinternational.com

Parts List for Clarke P/N CSS400C SCROLL SAW 6462152 . Date Issued; 06/08/14

Page 5 of 8


mailto:parts@clarkeinternational.com
mailto:service@clarkeinternational.com

®

INTERNATIONAL

Parts and Servicing
For parts and servicing, please contact your nearest dealer or CLARKE International on the following number;
020 8988 7400 or e-mail as follows; parts@clarkeinternational.com or service@clarkeinternational.com

Parts List for Clarke P/N CSS400C SCROLL SAW 6462152 . Date Issued; 06/08/14

Page 6 of 8


mailto:parts@clarkeinternational.com
mailto:service@clarkeinternational.com

®

INTERNATIONAL

Parts and Servicing
For parts and servicing, please contact your nearest dealer or CLARKE International on the following number;
020 8988 7400 or e-mail as follows; parts@clarkeinternational.com or service@clarkeinternational.com

Parts List for Clarke P/N CSS400C SCROLL SAW 6462152 . Date Issued; 06/08/14

Page 7 of 8


mailto:parts@clarkeinternational.com
mailto:service@clarkeinternational.com

' I l )

INTERNATIONAL

Parts and Servicing
For parts and servicing, please contact your nearest dealer or CLARKE International on the following number;
020 8988 7400 or e-mail as follows; parts@clarkeinternational.com or service@clarkeinternational.com

Parts List for Clarke P/N CSS400C SCROLL SAW 6462152 . Date Issued; 06/08/14

Page 8 of 8


mailto:parts@clarkeinternational.com
mailto:service@clarkeinternational.com

